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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I |
3500 + EcFZEXp : SOOOOOOOOOOOC OOOOOOOOOOOOOOOOOOOOOOOOLOOOOOOOOOLOOOOOOOOOOOOOOO LOOOOOOOOOOOOOOOOOOOOOOOO LOOOOO
3000 { ¢ FECdef L pssses

—>— water_ec I

2500 LLLLLiLLLL L et A s et At
M DOOOOOOOOOOOOOOO0 I
2000 :
1
1
1500 |
xooooo?x !
1
1000 I
1
Warning: col [ EcFgro’, 'EcPltng’'] is missing 1

500

25

50

75

100

125 150 175




Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-10

BriE) | BRI (FD) | ERE (EH/4) | BEBRERE (B/R) |[XKS R
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09:15 283 150.0 2.888 i FiHRe09:15 K4EFEF (RFEEREE)
09:45 283 150.0 2. 888 5 FiHA@09:45 KREFEF (KREAEHSE)
10:15 283 150.0 2.888 A FHA@10:15 KREIEF (REAEHSE)
10:45 283 150.0 2.888 i FiHR@10:45 KREFEFE (REEREE)
11:15 283 150.0 2. 888 5 FiHe11:15 REEF (REAEBSE)
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17:15 283 150.0 2.888 i FiHRe17:15 KREFEFE (REERSE)
21t]5943.0 (21)%) 3150.0 329353 KEC: 2080.0, PH: 5.8
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P3-10

FriE) [ EBIATK (FD) | ERE (EH/4) | BEBREE (/R |[XKS SRR

06:55 283 150.0 2.888 BS| 1Ri%e06:55 Bz (RF{EEEE)
07:25 283 150.0 2. 888 S| 1Ri%e07:25 B (RF{EEEE)
07:55 283 150.0 2.888 s {Ri&e07:55 Bl (REAEHSE)
08:40 283 150.0 2.888 BE| {RRi%e08:40 B (REAERHEE)
09:15 283 150.0 2. 888 RS {Ri8e09:15 Bz (REERSE)
09:55 283 150.0 2.888 S| 1Ri&e09:55 Bah (REEESE)
10:30 283 150.0 2.888 BE| {Ri%@10:30 Bal (REAERE)
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17:05 283 150.0 2.888 BE| Rige17:05 Bzl (REAEHE)
21t 5660.0 (20)%) 3000. 0 ZHKEC: 2080.0, PH: 6.0
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585 590 630 635 640 675 680 685 715 720 725
m=755,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=855,m FV0=0
—o— ME | 28001 —® ME | 27754 —— MNE 28.14 —o— ME
27.75 1 27 50 28.0 4
27.50 4 27 25 27.9 4
97. 25 - 27 00 4 27.8 -
27.00 4 26. 75 27.7 4
26. 75 - 26. 50 27.6 -
T T 26. 50 L T T T 26. 25 B T T T 27. 5 L T T T T T
760 765 785 790 795 825 830 835 860 862 864 866 868
m=890,m FV0=0 m=925,m FV0=0 m=960,m FV0=0 m=1030m FVO0=0
—o— MNE | —o— WE —o— MNE —e— ME
28. 00
27.75 -
27.0 4
27.75 1
27.50 4
27.50 -
27. 25 1 26.5 1
27. 25 1
27.00 4
26. 75 -
26. 75 -
26. 50 4
895 900 925 930 935 960 965 970 1030 1035 1040



m=440, FV0=0 m=475, FV0=0 m=535, FV0=0

—— MW —— MW 45 7 —— MW
i 45 -
42 44 -
441 43 -
40 -
43 - 42 4
38 - 41 4
42 -
-0 MW 40 4
T T T T T T T T T T T T
600 800 1000 440 445 450 475 480 485 535 540 545
m=580,m FV0=0 m=630,m FV0=0 m=675,m FV0=0 m=715,m FV0=0
—— MW 451 —— MW —— 45 - R
44 -
44 - 44
43 -
43 - 43 -
42 -
42 - 42 -
41 -
41 - 41 -
40
T T 40 - T T T T T T 40 - T T T
585 590 630 635 640 675 680 685 715 720 725
m=755,m FV0=0 m=785,m FV0=0 m=825,m FV0=0 m=855,m FV0=0
—o— MW —— MW —— MW —o— MW
45 44 - 45. 0
43 -
44 1 44.5
42 -
43 1 44.0 -
41 -
42 -
40 - 43.5 A
T T 41 T T T T T T T T T T T
760 765 785 790 795 825 830 835 860 862 864 866 868
m=890,m FV0=0 m=925,m FV0=0 m=960,m FV0=0 m=1030m FVO0=0
—— MW 45 1 —— MW —— MW 24 - —— MW
45 -
447 43 -
44 -
43 1 42 -
43 -
42 - 41 -
42 -
41 A 40
895 900 925 930 935 960 965 970 1030 1035 1040
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P3-10

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

05:30 283 150.0 2.888 FH| 1BRi%@05:30 Bzh (kAERESE)
06:15 283 150.0 2. 888 FH| 1BRi%@06:15 Bz (kAERRSE)
08:15 283 150.0 2.888 |Z=| {Ri&e08:15 Bz (KREERHSE)
09:25 283 150.0 2.888 [Z=| 1Ri&e09:25 Bzh (FEEESE)
10:20 283 150.0 2.888 |Z=| {Ri%e10:20 Bz (KREAEHE)
11:00 283 150.0 2.888 |Z=| {Ri&e11:00 Bz (KREAERSE)
11:35 283 150.0 2.888 [Z=| 1®Rige11:35 Bzh (REAEESER)
12:20 283 150.0 2.888 |Z=| {Rige12:20 Bz (REAEHE)
13:05 283 150.0 2.888 |/hfu| {Ri&e13:05 Bz (REAEHSE)
13:35 283 150.0 2.888 |/hilu| {Ri&e13:35 Bzl (REAEHSE)
14:05 283 150.0 2.888 FA| 1BRi%@14:05 Bz (kAFERSE)
14:35 283 150.0 2.888 FA| 1Ri&@14:35 B3 (GRAHEREE)
15:05 283 150.0 2.888 |Z=| {Ri&e15:05 Bz (REAEHSE)
15:55 283 150.0 2.888 |Z=| {Ri&e15:55 Bz (REAEHE)
16:50 283 150.0 2.888 |Z=| {Ri&e16:50 Bz (KREAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WUFHKEC: 2080.0, PH: 6.0

MERRNER S STEAERSE (184.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (1897. 0 vs 4205.0) iH 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=68 (2025-06-09)

150 feeeeef————f——————f———————f T ————f e —————f ] —————
V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
100 | 260 - 3000
. 2208
976 1700 838,14~ 2000
50 -
Warning: lcol [FVI',| "FVO’'] missing
0 -0
( i
200 - 30
150 - - 28
I-“I
100 - - 26 =
50 - 24
1.0 22
U
0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4 -
0.2 -
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 N
0.6 -
0.4 -
0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
4001 Bylnit}@D70 01:55: ET=1525 Fg=1800.0 Ro=350.0 3000
1
1
300 - I
l o—o—o—o 2000
200 4 :
] L 1000
100 - : o -
—— N H N R
D S ——
015 1 2 3 4 5 1 6 7 8 9 [ 10 11 [ 12 ] 13 ] 14 [ 15 16 ] 17 [ 18 ] 19 [ 20 [ 21 | 22 | 23 gooo
wod2=ElZ=zl B | B | B | B BB wm | wm | W | w|[B[B|HBH|W| W | B|[B|B|BE|B| W[ B
1
. . = = = 1
300 - ByEt @D68 19:36: ET=1543 Fg=1800. 0 Ro=nan ! | 2000
200 4 :
] L 1000
100 - 0 :
A 1
O—ﬁ a a a I IJ_I ﬂ\\l 0
0 1 2 3 4 5 6 7 8 9 [foJ w218 14576 [17 181920 2f [20 237,
w0l 2|22 BB | BB | A | B |25 |25 |25 Z25 183525 |/0W| B | 25|25 |83525|25 2525 B 5
1
1 . . = = =
300 - ByWoFv :@D70 01:55: ET=1638 Fg=2250.0 Ro=672.0 . 2000
200 4 :
] L 1000
100 - !
1.0+=5 1 2 3 4 5 6 7 8 9 T10] 1111213141617 8]19]2T12]2[23]°
0812|252 | BB | [ | B [ZE (BR[5BT |Zx(W| A |ZF (R8T (2535|5525 B 5
0.6 -
0.4 -
0.2 -
0.0
| 4
1000 - | obs
PPFD_obs
500 -
— T
o T obs
o To_obs
PO f“ e v f

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.

26.

26.

25.

25.

27.

27.

26.

26.

25.

27.

27.

26.

26.

m=370, FV0=0 m=415, FV0=0 m=525, FV0=0

24.00 |
- ME 25. 25 —8— ME | 55 004 - ME
23.75 25. 00
25.75
i 24. 75
23. 50 25 50 -
23.25 1 24997 25,95 -
24. 25
23.00 25.00
24. 00
22.75 24.75
T T T T T T T 23 75 B T T T T T T
400 600 800 1000 370 375 380 415 420 425 525 530 535
m=615,m FV0=0 m=670,m FVO=0 m=715,m FV0=0 m=765,m FV0=0
0 —e— ME | 275- —o— MmE | 2757 —— wE| —o— WNE
5 - 27 0 - 27.0 -
27.0 -
U 26.5 i
26.5 2.5
97 26.0
26. 0 - 26. 0 -
0 25.5
T T T T T T T T T 25 5 T T T
615 620 625 670 675 680 715 720 725 765 770 775
m=830,m FV0=0 m=865,m FV0=0 m=910,m FV0=0 m=965,m FV0=0
5 4 —e— ME 28 0 4 —e— ME —e— ME 21.5 1 —e— ME
27.5 -
0- 27.5 - 27.01
27.0 -
5 - 27.0 - 26.5 1
26. 5 -
0 - 26. 5 - 26. 0 -
26. 0 -
5 - 26. 0 - 25.5 -
830 835 840 865 870 875 910 915 920 965 970 975
m=1020m FVO0=0 m m=370,m FV0=0 m=415,m FV0=0
46 40 4 44
5 - -e— ME —— MW —— MW
441 43 -
42 38 1
01 42
40
5 1 38 - 36 A 41 -
36 - 40
0 - 24 34
- MW 39 -
1020 1025 1030 400 600 800 1000 370 375 380 415 420 425



m=525, FV0=0

45 A

44 -

43 -

42

41 -

M_W

m=765,m FV0=0

44

43 -

42

41 -

40 -

M_W

m=965,m FV0=0

44 -

43 A

42

41 -

M_W

m=615, FV0=0

45

44 -

43 -

42

41

40 -

—— MW

615

T T
620 625

m=830,m FV0=0

44 -

43 A

42 ~

41

40 -

39 A

—— MW

830

T T
835 840

m=1020m FV0=0

45 -

44

43 -

42 -

—o— MW

1020

1025 1030

m=670, FV0=0

45 -

44 -

43 -

42 -

41 -

40 -

—— MW

650
m=865,n FV0=0

44

43 A

42 -

41 -

40 -

—— MW
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m=715, FV0=0

44
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42

41 -

40 -

—0—

T
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m=910,m FV0=0
44 —o—
43
42
41
40

920
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P3-10

BYiE) | GEREKE) | Els (EA/H) | EBREE B/ R | X8 ERR

06:55 283 150.0 2.888 BE| {RRi&e06:55 B (REAEHE)
07:25 283 150. 0 2.888 BE| 1Ri%e07:25 B3 (RF{EREE)
07:55 283 150. 0 2.888 s {Ri&e07:55 Bnl (REEESE)
08:35 283 150. 0 2.888 BE| {Ri&e08:35 B (REAEHE)
09:05 283 150. 0 2.888 BE| 1Ri%e09:05 Bz (RFERESE)
09:35 283 150. 0 2.888 BE| {Ri1%e09:35 Bnl (REEEE)
10:05 283 150.0 2.888 B 1Rige10:05 Bzh (REEESE)
10:35 283 150.0 2.888 BS| 1Ri%e10:35 Bz (GREMEEEE)
11:05 283 150. 0 2.888 sl Rige11:05 Bal (REEESE)
11:35 283 150.0 2.888 S| 1Rige11:35 Bah (REERESE)
12:05 283 150.0 2.888 S| Rige12:05 Bz (REAEHE)
12:35 283 150. 0 2.888 BE| 1Ri%e12:35 B (RFAERE)
13:05 283 150. 0 2.888 el Rige13:05 Bal (REAEHSE)
13:35 283 150.0 2.888 BE| {Rige13:35 BHal (REAEHE)
14:05 283 150. 0 2.888 BE| {Ri%e14:05 B (GGRFA{EREE)
14:35 283 150. 0 2.888 el BRi%e14:35 Bz (REERSE)
15:05 283 150.0 2.888 BE| Rige15:05 Ba (REAERE)
15:35 283 150. 0 2.888 BE| 1Ri%e15:35 B3 (RF{EREE)
16:05 283 150. 0 2.888 el {Rige16:05 Bal (REAEESE)
16:35 283 150.0 2.888 B 1Rige16:35 Bzh (REAEESE)
17:05 283 150.0 2.888 BS| 1Ri%e17:05 Bzh CGREMEESE)
2it]5943.0 (217%) 3150.0 329333 %EC: 2080.0, PH: 6.0

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHEHECE (1927.0 vs 3885.0) 145



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=67 (2025-06-08)

R S it
VI, V&RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 3312

2600 2600 |¢/9655
947

100 A

50

Warning: lcol [FVI',| "FVO’'] missing

200 -

150 -

100 A

50 -

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0

]
400 - Bylnit @70 01:56: ET=2262 Fg=2850.0 Ro=562.0 ¢ 4000

- 3000

200 - 2000

- 1000

—o
-
0 [ 1

ByEt @D67 19:05: ET=2178 Fg=2754. 0 Ro=nan
200 - i )

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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i 5 5 5 i H 5 G A B 5 G A B 5 G A B 5 G g [ 4000

iﬁr°T‘r

- 3000

- 2000

- 1000

p——& 4 - —&
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

a0l 5 | 8 | 85 [ 5 |85 [ RE | B5 [ RE | 5 [ fF | A5 | mF | 5 [ 5 | W5 | 85 | W5 | B5 [ RE | BE [ B8 |Z =[S Z | %7 [ 4000
1
BylWoFy 18D70 01:56: ET=2655 Fg=3150.0 Ro=580.0 [ 3000
1
1
200 - 1 - 2000
1
: - 1000
)— o—o—=o
WO T 11 2131 471516 [ 7809 [10] 1112 13 14[15]16][ 171819 222 ][2]°
0sl M | B | % | ® | | | mE | M | mE | RE | RE | FE | P& | B | s | e | ME | mE | RE | BB | BB |Bn (%% %5
0.6
0.4
0.2
0.0
1500 1 | 4

[ ] | _obs
1000 —@— PPFD_obs

80 A

60 -

40 - RH
[ ] RH_obs
[ ) RHo_obs
20 ~
4 -
e v {
31 @
[ ) ‘
L
Y
T T T T T T T
10 12 14 16 18 20 22 24

hour

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



27.

26.

26.

29.

28.

28.

29,

28.

28.

22

400 600 800 1000
m=550,m FV0=0
;"/‘%

550 555 560

m=690,m FV0=0
ﬁ
690 695 700

m=810,m FV0=0

-o— M_E

7
b
i
iy

810 815 820

23.

23.

23.

23.

22.

22.

22.

28.

28.

27.

27.

27.

217.

26.

29.

29.

28.

28.

28.

28.

27.

m=385, FV0=0

75 A

50

25 ~

00 -

75 A

50 -

25 A

M_E

T T
385 390 395

m=590,m FV0=0

25 4

00 -

75 A

50

25 ~

00 A

75 A

—o— ME

590 5é5 660
m=720,n FV0=0

25

00 -

75 A

50 A

25 H

00 -

75 A

—o— ME

i

720 755 750
m=840,n FV0=0

29.0 A

28.5 -

28.0 -

-o— ME

840 845 850

25.

25.

24.

24.

24.

24.

23.

29.0 A

28.5

28.0 -

27.5 -

29.

29.

28.

28.

28.

28.

21.

29,

29.

28.

28.

28.

28.

21.

m=415, FV0=0

25 A

00 -

75 -

50 A

25 A

00 -

75 -

—0—

M_E

415

4é0 455
m=625,n FV0=0

—0—

M_E

GéO 655
m=750,n FV0=0

25 A

00 -

75 1

50 A

25 -

00 ~

75 -

——

M_E

750

7é5 760
m=870,n FV0=0

25 A

00 -

75 1

50 A

25 -

00 ~

75 -

—O—

M_E

870

875 880

26.0 -

25.5 ~

25.0 A

24.5 A
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28.

28.

28.

27.

29.

29.

28.

28.

28.

28.

27.

29.

28.

28.

28.

28.

27.

m=495, FV0=0

—o— M_E

560 565
m=655,n FV0=0

25 A

00 -

75 -

50 A

25 -

00 -

75 -

—&— M_E

GéO 6é5
m=780,n FV0=0
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00 -

75 1
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25 -

00 -

75 -

—&— M_E
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7é5 750
m=900,n FV0=0
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00 -
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—o— M_E
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m=935, FV0=0

28. 75 A

28.50

28. 25 A

28. 00 ~

27.75

27. 50 A

—o— ME

9&0 9&5
m=385,n FV0=0

40 ~

38 -

36

34 -

3é0 365
m=590,n FV0=0

44 -

43 A
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41 -

40 -

39 A

—— MW

555 660
m=720,n FV0=0

590

44 -
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42

41

40 -

-— MW

i

720 725 730

28.

28.

28.

28.

27.

27.

27.

m=970, FV0=0 m=1005, FV0=0
75 A
—— ME 28.75 A —&— ME
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28. 50 A
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00 A
28. 00 A
75 A
27.75 A
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27. 50 -
25 T T T T T T
970 975 980 1005 1010 1015
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44
—-— MW - MW
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T T T 39 - T T T
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42 42
41 41
40 1= 40 —
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780 785 790

T T T
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m=810,n FV0=0
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m=840, FV0=0
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T
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Pa-10 BT | CEBEK (D) | Efes (B | ERes (5/R) | Rk= E3
06:50 283 150. 0 2.888 RS {Ri%&e06:50 B (REAEHE)
07:20 283 150.0 2.888 RS {Ri%e07:20 BHa (REEREE)
07:50 283 150. 0 2.888 S| 1Ri%e07:50 B (RF{EEEE)
08:30 283 150.0 2.888 RS 1Ri&e08:30 Bah (FEEREE)
09:05 283 150.0 2.888 RS {Ri%@09:05 Bz (REAEHE)
09:35 283 150. 0 2.888 BE| 1Ri%e09:35 B (RF{EREE)
10:05 283 150.0 2.888 S| 1Rige10:05 Bah (GREEREE)
10:35 283 150.0 2.888 RSl {Ri&@10:35 BHal (REAEHE)
11:05 283 150. 0 2.888 BE| Ri%e11:05 B (RFA{EREE)
11:35 283 150.0 2.888 S| 1Rige11:35 Bah (REERESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:35 283 150. 0 2.888 BE| Ri%e12:35 Bz (RFAERESE)
13:05 283 150.0 2.888 RS Ri%e13:05 Bz (REERSR)
13:35 283 150.0 2.888 B 1Rige13:35 Bzh (REEESE)
14:05 283 150.0 2.888 S| Rige14:05 Bz (REAERE)
14:35 283 150.0 2.888 S| Ri%e14:35 Bz (REERSR)
15:05 283 150.0 2.888 B 1Rige15:05 Bah (REEESE)
15:35 283 150.0 2.888 S| {Rige15:35 BHa (REAERE)
16:05 283 150. 0 2.888 S| 1Ri%e16:05 B (RFA{EREE)
16:35 283 150.0 2.888 S| 1Rige16:35 Bah (REERSE)
17:05 283 150.0 2.888 BE| Rige17:05 Bzl (REAEHE)
17:35 283 150. 0 2.888 BE| 1Ri%e17:35 B (RF{EREE)
23t 6226.0 (22)%) 3300. 0 # U REC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (184.0 :

ZRIALBRIERE153.0 ml.

HEEIKECE (1877.0 vs 3532.0) 15

153.0), AlEEHT—@ % XA HS




P3-10_0, Day=66 (2025-06—07)

150 Fo———=—F——————F——————F-—————F——————F——————F——————F——————F——————F——————F——————F—————]
VI, V&¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3128
F 3000 ~
2600 6 -
100 {2300 dog T
115
—2000\_5/
50 z
2 - 1000 &
80 Warning: lcol [FVI',| "FVO’'] missing
0 -0
200 § VI —— ME B30
L
& 150 -
o [
= 100 -
£ 501
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
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